JTan UHUUManNM3auum annapaTHbIX CpeacTB
outportb('282', '0'); % 3anpet paboTtbl ALl
outportb('287° , '0'); % 3anpet paboTbl Tanmepa

outportb('284' , 'F7');% 3arpy3ka KoadpuuneHTa c4eTa,
% Mnagwun 6anT

outportb('284', "1B'); % cTtapwuunin bant
outportb('282', '90'); % 3anyck 12-paspsagHoro AL B paboTty

outportb('287°', '80'); % 3anyck Tanmepa STO B paboty
% pexnm nporpaMmmMHOro onpoca roTOBHOCTU
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Jtan oomeHa nHdopmauuewn,
Pexxum nporpaMmMHOro onpoca rotoBHOCTHU

fornp=1:1:250
s=0;
for k =1:1:40
flag = 0;

while flag ~= 1
flag = inportb ( '283" );
flag = bitand ( flag, 1 );
end

i (k)=inport('280');
s=s+i(k)*i(k);
end

| (np) = sqrt (0.025 *s ) / 146.21429;
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